

## § 340.9

(b) *Method of determining accepted bids.* The lowest basis cost of money<sup>2</sup> computed from the date of the bonds to the date of maturity will be used in determining successful bids.

(c) *Acceptance of successful bid.* The Secretary of the Treasury, or his representative, will notify any successful bidder of acceptance in the manner and form specified in the public notice.

### § 340.9 Bids—revocations—rejections—postponements—reoffers.

The Secretary of the Treasury, in his discretion, may (a) revoke the public notice of invitation to bid at any time before opening bids, (b) return all bids unopened either at or prior to the time specified for their opening, (c) reject any or all bids, (d) postpone the time for presentation and opening of bids, and (e) waive any immaterial or obvious defect in any bid. Any action the Secretary of the Treasury may take in these respects shall be final. In the event of a postponement, known bidders will be advised thereof and their bids returned unopened.

### § 340.10 Payment for and delivery of bonds.

Payment for the bonds, including accrued interest, if any, must be made in immediately available funds on the date and at the place specified in the invitation. Delivery of bonds under this section will be made at the risk and expense of the United States at such place or places in the United States as may be provided in the invitation. Interim receipts, if necessary, will be issued pending delivery of the definitive bonds.

### § 340.11 Failure to complete transaction.

If any successful bidder shall fail to pay in full for the bonds on the date

<sup>2</sup>In cases where bidders are required to specify the coupon rate, the lowest basis cost of money will be determined by reference to a specially prepared table of bond yields, a copy of which will be made available to all prospective bidders upon written request to the Federal Reserve Bank of New York, or the Bureau of the Fiscal Service, Treasury Department, Washington, DC 20220. Straightline interpolation will be applied if necessary.

## 31 CFR Ch. II (7-1-25 Edition)

and at the place specified in the invitation, the money deposited by or in behalf of such bidder shall be forfeited to the Treasury Department.

### § 340.12 Reservations as to terms of circular.

The Secretary of the Treasury reserves the right, at any time, or from time to time, to amend, repeal, supplement, revise or withdraw all or any of the provisions of this part.

## PART 341—REGULATIONS GOVERNING UNITED STATES RETIREMENT PLAN BONDS

Sec.

- 341.0 Offering of bonds.
- 341.1 Description of bonds.
- 341.2 Registration.
- 341.3 Purchase of bonds.
- 341.4 Proof of purchase.
- 341.5 Limitation on holdings.
- 341.6 Nontransférability.
- 341.7 Judicial proceedings.
- 341.8 Payment or redemption during lifetime of owner.
- 341.9 Payment or redemption after death of owner.
- 341.10 Reissue.
- 341.11 Use of power of attorney.
- 341.12 Lost, stolen, or destroyed bonds.
- 341.13 Taxation.
- 341.14 Certifying officers.
- 341.15 General provisions.

### APPENDIX TO PART 341—TABLES OF REDEMPTION VALUES

AUTHORITY: 5 U.S.C. 301; 12 U.S.C. 391; 31 U.S.C. 3106 *et seq.*, 3125, 3126.

SOURCE: 28 FR 405, Jan. 16, 1963, unless otherwise noted.

### § 341.0 Offering of bonds.

The Secretary of the Treasury, under the authority of the Second Liberty Bond Act, as amended, and pursuant to the Self-Employed Individuals Tax Retirement Act of 1962, offers for sale, effective as of January 1, 1963, bonds of the United States, designated as United States Retirement Plan Bonds. The bonds will be available for investment only to:

- (a) Bond purchase plans and
- (b) Pension and profit-sharing plans, as described in sections 405 and 401, respectively, of the Internal Revenue Code of 1954.

**Fiscal Service, Treasury****§ 341.2**

This offering of bonds will terminate on April 30, 1982.

[28 FR 405, Jan. 16, 1963, as amended at 47 FR 18596, Apr. 30, 1982]

**§ 341.1 Description of bonds.**

(a) *Investment yield (interest).* United States Retirement Plan Bonds, hereinafter sometimes referred to as Retirement Plan Bonds, will be issued at par. The investment yields (interest) are as follows:

(1) Bonds with issue dates of January 1, 1963, through May 1, 1966—3.75 percent per annum, compounded semiannually (see Table of Redemption Values in the appendix).

(2) Bonds with issue dates of June 1, 1966, through December 1, 1969—4.15 percent per annum, compounded semiannually (see Table A in the appendix).

(3) Bonds with issue dates of January 1, 1970, through January 1, 1974—5 percent per annum, compounded semiannually (see Table B).

(4) Bonds with issue dates of February 1, 1974, through July 1, 1979—6 percent per annum, compounded semiannually (see Table C).

(5) Bonds with issue dates of August 1, 1979, through October 1, 1980—6.5 percent per annum, compounded semiannually (see Table D).

(6) Bonds with issue dates of November 1, 1980, through September 1, 1981—8 percent per annum, compounded semiannually (see Table E).

(7) Bonds with issue dates of October 1, 1981, or thereafter—9 percent per annum, compounded semiannually (see Table F).

Interest will be paid only upon redemption of the bonds. The accrual of interest will continue until the bonds are redeemed or have reached maturity, whichever is earlier, in accordance with these regulations.

(b) *Term.* The maturity date of any bond issued under this circular shall be indeterminate, but unless sooner redeemed in accordance with the regulations in this part, its investment yield will cease on the interest accrual date coinciding with, or, where no such coincidence occurs, the interest accrual date next preceding, the first day of the sixtieth (60th) month following the date of death of the person in whose name it is registered.

(c) *Denominations—issue date.* Retirement Plan Bonds will be available only in registered form and in denominations of \$50, \$100, \$500, and \$1,000. At the time of issue, the issuing agent will enter in the upper right-hand portion of the bond the issue date (which shall be the first day of the month and year in which payment of the purchase price is received by an authorized issuing agent), and will imprint the agent's validating stamp in the lower right-hand portion. The issue date, as distinguished from the date in the agent's validating stamp, will determine the date from which interest will begin to accrue on the bond. A Retirement Plan Bond shall be valid only if an authorized issuing agent receives payment therefor, duly inscribes, dates, stamps, and delivers it.

[28 FR 405, Jan. 16, 1963, as amended at 46 FR 60573, Dec. 11, 1981]

**§ 341.2 Registration.**

(a) *General.* The registration of Retirement Plan Bonds is limited to the names of natural persons in their own right, whether adults or minors, in either single ownership or beneficiary form. A bond registered in beneficiary form will be inscribed substantially as follows (for example): "John A. Doe payable on death to (or P.O.D.) Richard B. Roe." No more than one beneficiary may be designated on a bond.

(b) *Inscription.* The inscription on the face of each bond will show the name, address, and date of birth of the registered owner, as well as information as to whether he is a self-employed individual or an employee, and the amount he contributed (if any) out of his own funds toward the purchase price of the bond. In the case of any self-employed individual (who is treated as an employee for the purpose of sections 405 and 401 of the Internal Revenue Code of 1954), this amount would be that portion of the purchase price he contributed (if any) as an employee and which he will not take into account in determining the amount deductible for Federal income tax purposes. The name of the beneficiary, if

### § 341.3

one is to be designated, will also be shown in the inscription.

[28 FR 405, Jan. 16, 1963, as amended at 71 FR 46857, Aug. 15, 2006]

#### § 341.3 Purchase of bonds.

(a) *Agencies.* Retirement Plan Bonds may be purchased over-the-counter or by mail from Federal Reserve Banks and Branches and the Bureau of the Fiscal Service, Washington, DC 20226. Customers of commercial banks and trust companies may be able to arrange for the purchase of the bonds through such institutions, but only the Federal Reserve Banks and Branches and the Bureau of the Fiscal Service are authorized to act as official agencies, and the date of receipt of the application and payment by an official agency will govern the dating of the bonds issued.

(b) *Application.* Applications for the purchase of Retirement Plan Bonds should be made on Form PD 3550, accompanied by a remittance to cover the purchase price. Personal checks will be accepted, subject to collection. Checks or other forms of exchange, should be drawn to the Federal Reserve Bank or United States Treasury, as the case may be. Checks payable by endorsement are not acceptable.

(c) *Delivery.* Delivery of bonds will be made in person, or by mail at the risk and expense of the United States, at the address given by the purchaser, but only within the United States, its territories and possessions, the Commonwealth of Puerto Rico, and the Canal Zone. No mail deliveries elsewhere will be made. If the registered owner temporarily resides abroad, the bonds will be delivered to such address in the United States as the purchaser directs.

#### § 341.4 Proof of purchase.

At the time a Retirement Plan Bond is issued, the issuing agent will furnish therewith to the purchaser, and in cases where the purchaser is different from the person in whose name the bond is inscribed, to the registered owner as well, proof of the purchase on Form PD 3550. The form will show the names and addresses of the purchaser and of the registered owner, the latter's date of birth, social security account number and his classification

### 31 CFR Ch. II (7-1-25 Edition)

(i.e., self-employed individual or employee) the number of bonds issued, a description thereof by issue date, serial numbers, denominations, and registration, together with information as to the amount of his contributions (if any) toward the purchase price of the bonds.

#### § 341.5 Limitation on holdings.

The limit on the amount of any Retirement Plan Bonds issued during 1974, or in any one calendar year thereafter, that may be purchased in the name of any one person as registered owner is \$10,000 (face value).

[39 FR 36114, Oct. 8, 1974]

#### § 341.6 Nontransferability.

United States Retirement Plan Bonds are not transferable, and may not be sold, discounted or pledged as collateral for a loan or as security for the performance of an obligation, or for any other purpose.

#### § 341.7 Judicial proceedings.

No judicial determinations will be recognized which would give effect to an attempted voluntary transfer inter vivos of a Retirement Plan Bond. Otherwise, a claim against a registered owner will be recognized when established by valid judicial proceedings, but in no case will payment be made to the purchaser at a sale under a levy or to the officer authorized to levy upon the property of the owner under appropriate process to satisfy a money judgement unless or until the bond has become eligible for redemption pursuant to the regulations in this part. Neither the Treasury Department nor any of its agencies will accept notices of adverse claims or of pending judicial proceedings or undertake to protect the interests of litigants who do not have possession of the bond.

#### § 341.8 Payment or redemption during lifetime of owner.

(a) *At age 59½ or thereafter.* A Retirement Plan Bond will be redeemable at its current redemption value upon the request of the registered owner (or a person recognized as entitled to act on his behalf), provided he is 59½ years of age or older. The owner's age will be

determined from the date of birth shown on the face of the bond, provided, however, that the Secretary of the Treasury reserves the right in any case or class of cases to require proof, in the form of a duly certified copy of his birth certificate, that the owner has attained the age of 59½ years. If such evidence is unavailable, one of the following documents may be furnished in lieu thereof:

- (1) Church records of birth or baptism.
- (2) Hospital birth record or certificate.
- (3) Physician's or midwife's birth record.
- (4) Certification of Bible or other family record.
- (5) Military, naturalization or immigration records.
- (6) Other evidence of probative value. Similar documentary evidence will also be required to support any claim made by an owner that the date of birth shown on his bond is incorrect.

(b) *Prior to age 59½ years.* A Retirement Plan Bond will be paid at its then current redemption value upon a registered owner's request (or by a person recognized as entitled to act on his behalf) prior to his attainment of age 59½ years upon submission of a physician's statement or any similar evidence showing that the owner has become disabled to such an extent that he is unable to engage in any substantial, gainful activity by reason of any medically determinable physical or mental impairment which can be expected to result in death or to be of long-continued and indefinite duration. The following are examples of impairments which would ordinarily be considered as preventing substantial, gainful activity:

- (1) Loss of use of two limbs.
- (2) Certain progressive diseases which have resulted in the physical loss or atrophy of a limb, such as diabetes, multiple sclerosis, or Buerger's disease.
- (3) Diseases of the heart, lungs, or blood vessels which have resulted in major loss of heart or lung reserve as evidenced by X-ray, electrocardiogram, or other objective findings, so that despite medical treatment breathlessness, pain, or fatigue is produced on slight exertion, such as walking several

blocks, using public transportation, or doing small chores.

(4) Cancer which is inoperable and progressive.

(5) Damage to the brain or brain abnormality which has resulted in severe loss of judgment, intellect, orientation, or memory.

(6) Mental diseases (e.g., psychosis or severe psychoneurosis) requiring continual institutionalization or constant supervision of the individual.

(7) Loss or diminution of vision to the extent that the affected individual has a central visual acuity of no better than 20/200 in the better eye after best correction, or has a limitation in the fields of vision such that the widest diameter of the visual fields subtends an angle no greater than 20 degrees.

(8) Permanent and total loss of speech.

(9) Total deafness uncorrectible by a hearing aid.

In any case coming under the provisions of this paragraph, the evidence referred to above must be submitted to the Bureau of the Fiscal Service, Division of Transactions and Rulings, Parkersburg, WV 26101, for approval before any bonds may be paid. If, after review of the evidence, the Secretary of the Treasury is satisfied that the owner's disability has been established, a letter will be furnished authorizing payment of his Retirement Plan Bonds. This letter must be presented each time any of the owner's bonds are submitted for payment to a Federal Reserve Bank or Branch or to the Bureau of the Fiscal Service.

(c) *Requests for payment*—(1) *By owner.* When redemption of any Retirement Plan Bond is desired by the registered owner under paragraph (a) of this section, it should be presented with the request for payment on the back of the bond signed and duly certified, to a Federal Reserve Bank or Branch or to the Bureau of the Fiscal Service, Securities Transactions Branch, Washington, DC 20226, or Bureau of the Fiscal Service, Division of Transactions and Rulings, Parkersburg, WV 26101. If payment is requested under paragraph (b) of this section, the letter described therein should accompany the bond.

(2) *By person other than owner.* When redemption of any Retirement Plan

## § 341.9

Bond is desired by the legal guardian, committee conservator, or similar representative of the owner's estate under paragraph (a) of this section, it should be presented, with the request signed as described below, to a Federal Reserve Bank or Branch or to the Bureau of the Fiscal Service. If payment is requested under paragraph (b) of this section, the letter described therein should accompany the bond.<sup>1</sup> The request for payment, in either case, should be signed by the representative in his fiduciary capacity before an authorized certifying officer, and must be supported by a certificate or a certified copy of the letters of the appointment from the court making the appointment, under seal, or other proof of qualification if the appointment was not made by a court. Except in the case of corporate fiduciaries, such evidence should state that the appointment is in full force and should be dated not more than one year prior to the presentation of the bond for payment.

(d) *Partial redemption.* A Retirement Plan Bond in a denomination greater than \$50 (face value) which is otherwise eligible for redemption may be redeemed in part, at current redemption value, upon the request of the registered owner (or a person recognized as entitled to act on his behalf), but only in amounts corresponding to authorized denominations. In any case in which partial redemption is desired, before the request for payment is signed, the phrase "to the extent of \$\_\_\_\_ (face value) and reissue of the remainder" should be appended to the request. Upon partial redemption of the bond, the remainder will be reissued as of the original issue date. No partial redemption of a bond will be made after the

<sup>1</sup> In any case in which a legal representative has not been appointed for the estate of a registered owner who has attained the age of 59½ years, or who has become disabled, a person seeking payment of a bond on the owner's behalf should furnish a complete statement of the circumstances to the Bureau of the Fiscal Service, Division of Transactions and Rulings, Parkersburg, WV 26101. Appropriate instructions will then be furnished.

## 31 CFR Ch. II (7-1-25 Edition)

death of the owner in whose name it is registered.

[28 FR 405, Jan. 16, 1963, as amended at 42 FR 21611, Apr. 28, 1977]

### § 341.9 Payment or redemption after death of owner.

(a) *Order of precedence where owner not survived by beneficiary.* If the registered owner of a Retirement Plan Bond dies before it has been presented and surrendered for payment, and there is no beneficiary shown thereon, or if the designated beneficiary predeceased the owner, the bond shall be paid in the following order of precedence:

(1) To the duly appointed executor or administrator of the estate of the owner, who should sign the request for payment on the back of the bond in his representative capacity before an authorized certifying officer, such request to be supported by a court certificate or a certified copy of his letters of appointment, under seal of the court, which should show that the appointment is in full force and effect, and be dated within six months of its presentation;

(2) If no legal representative of the deceased registered owner's estate has been or will be appointed, to the widow or widower of the owner;

(3) If none of the above, to the child or children of the owner and the descendants of deceased children by representation;

(4) If none of the above, to the parents of the owner, or the survivor of them;

(5) In none of the above, to other next-of-kin of the owner, as determined by the laws of the domicile of such owner at the time of his death. In any case coming under the provisions of this paragraph, a duly certified copy of the registered owner's death certificate will ordinarily be required. Proof of death of the beneficiary, if any, will be required where he predeceased the owner. Payment of bonds under paragraph (a)(1) of this section will be made by a Federal Reserve Bank or Branch or by the Bureau of the Fiscal Service, Securities Transactions Branch, Washington, DC 20226, or Bureau of the Fiscal Service, Division of Transactions and Rulings, Parkersburg, WV 26101. Payment of bonds under paragraphs

**Fiscal Service, Treasury****§ 341.10**

(a)(2) to (5) of this section will be made upon receipt of applications on Form PD 3565, together with the bonds and supporting evidence, by the Bureau of the Fiscal Service.

(b) *Order of precedence where beneficiary survived owner.* If the registered owner of a Retirement Plan Bond dies before it has been presented and surrendered for payment, and the beneficiary shown thereon survived the owner, the bond shall be paid in the following order of precedence:

(1) To the designated beneficiary upon his presentation and surrender of the bond with the request for payment signed and duly certified, such payment to be made to the exclusion of any other person who may have been named beneficiary by the registered owner in a bond purchase plan, or under a pension or profit-sharing plan;

(2) If the designated beneficiary survived the registered owner but failed to present the bond for payment during his own lifetime, payment will be made in the order of precedence specified in paragraphs (a) (1) to (5) of this section to the legal representative, surviving spouse, children, parents, or next-of-kin of such beneficiary, and in the manner provided therein.

In any case coming under the provisions of this paragraph, a duly certified copy of the registered owner's death certificate will ordinarily be required. Proof of death of the beneficiary will also be required where he survived the owner but failed to present the bond for payment during his own lifetime. Payment of a bond to a designated beneficiary will be made by Federal Reserve Bank or Branch or by the Bureau of the Fiscal Service, Securities Transactions Branch, Washington, DC 20226, or Bureau of the Fiscal Service, Division of Transactions and Rulings, Parkersburg, WV 26101.

(c) *Ownership of redemption proceeds.* The orders of precedence set forth in paragraphs (a) and (b) of this section, except in case where redemption is made for the account of a registered owner, are for the Department's convenience in discharging its obligation on a Retirement Plan Bond. The discharge of the obligation in accordance therewith shall be final so far as the Department is concerned, but those

provisions do not otherwise purport to determine ownership of the redemption proceeds of a bond.

[28 FR 405, Jan. 16, 1963, as amended at 42 FR 21611, Apr. 28, 1977]

**§ 341.10 Reissue.**

(a) *Addition or change of beneficiary.* A Retirement Plan Bond will be reissued to add a beneficiary in the case of a single ownership bond, or to eliminate or substitute a beneficiary in the case of a bond registered in beneficiary form upon the owner's request on Form PD 3564. No consent will be required to support any reissue transaction from a beneficiary whose name is to be removed from the registration of a Retirement Plan Bond. If the registered owner dies after the bond has been presented and surrendered for reissue, upon receipt of notice thereof by the agency to which the request for reissue was submitted, such request shall be treated as ineffective, provided the notice of death is received by the Federal Reserve Bank or Branch or the Bureau of the Fiscal Service, Securities Transactions Branch, Washington, DC, 20226, or Bureau of the Fiscal Service, Division of Transactions and Rulings, Parkersburg, WV 26101, to which the request was sent, in sufficient time to withhold delivery, by mail or otherwise, of the reissued bond.

(b) *Error in issue—change of name.* Reissue of a Retirement Plan Bond will be made where an error in issue has occurred, as well as in cases where the owner's name has been changed by marriage, divorce, annulment, order of court, or in any other legal manner, upon appropriate request supported by satisfactory evidence. Information as to the procedure to be followed in securing such reissue may be obtained from a Federal Reserve Bank or the Bureau of the Fiscal Service, Securities Transactions Branch, Washington, DC 20226, or Bureau of the Fiscal Service, Division of Transactions and Rulings, Parkersburg, WV 26101.

[28 FR 405, Jan. 16, 1963, as amended at 42 FR 21611, Apr. 28, 1977; 42 FR 57123, Nov. 1, 1977]

## § 341.11

### § 341.11 Use of power of attorney.

No designation of an attorney, agent, or other representative to request payment or reissue on behalf of the owner, beneficiary, or other person entitled under § 341.9, other than as provided in the regulations in this part, will be recognized.

### § 341.12 Lost, stolen, or destroyed bonds.

If a Retirement Plan Bond is lost, stolen, or destroyed, a substitute may be issued upon identification of the bond and proof of its loss, theft, or destruction. A description of the bond by denomination, serial number, issue date and registration should be furnished at the time the report of loss, theft, or destruction is made. Such reports should be sent to the Bureau of the Fiscal Service, Division of Transactions and Rulings, Parkersburg, WV 26101. Full instructions for obtaining substitute bonds will then be given.

[28 FR 405, Jan. 16, 1963, as amended at 42 FR 21611, Apr. 28, 1977]

### § 341.13 Taxation.

The tax treatment provided under section 405 of the Internal Revenue Code of 1954 shall apply to all Retirement Plan Bonds. The bonds are subject to estate, inheritance, or other excise taxes whether Federal or State, but are exempt from all taxation now or hereafter imposed on the principal or interest thereof by any State, municipality, or any local taxing authority. Inquiries concerning the application of any Federal tax of these bonds should be directed to the District Director of Internal Revenue of the taxpayer's district or to the Internal Revenue Service, Washington, DC 20224.

### § 341.14 Certifying officers.

Officers authorized to certify requests for payment or for any other transaction involving Retirement Plan Bonds include:

(a) *Post offices.* Any postmaster, acting postmaster, or inspector-in-charge, or other post office official or clerk designated for that purpose. A post office official or clerk, other than a postmaster, acting postmaster, or inspector-in-charge, should certify in the

## 31 CFR Ch. II (7-1-25 Edition)

name of the postmaster or acting postmaster, followed by his own signature and official title. Signatures of these officers should be authenticated by a legible imprint of the post office dating stamp.

(b) *Banks and trust companies.* Any officer of a Federal Reserve Bank or Branch, or of a bank or trust company chartered under the laws of the United States or those of any State, Commonwealth, or Territory of the United States, as well as any employees of such bank or trust company expressly authorized to act for that purpose, who should sign over the title "Designated Employee." Certifications by any of these officers or designated employees should be authenticated by either a legible imprint of the corporate seal, or, where the institution is an authorized issuing agent for United States Savings Bonds, Series E, by a legible imprint of its dating stamp.

(c) *Issuing agents of Series E savings bonds.* Any officer of a corporation or any other organization which is an authorized issuing agent for United States Savings Bonds, Series E. All certifications by such officers must be authenticated by a legible imprint of the issuing agent's dating stamp.

(d) *Foreign countries.* In a foreign country requests may be signed in the presence of and be certified by any United States diplomatic or consular representative, or the manager or other officer of a foreign branch of a bank or trust company incorporated in the United States whose signature is attested by an imprint of the corporate seal or is certified to the Treasury Department. If such an officer is not available, requests may be signed in the presence of and be certified by a notary or other officer authorized to administer oaths, but his official character and jurisdiction should be certified by a United States diplomatic or consular officer under seal of his office.

(e) *Special provisions.* The Commissioner of the Fiscal Service, the Chief of the Division of Securities Operations, or any Federal Reserve Bank or Branch is authorized to make special provision for certification in any particular case or class of cases where none of the officers authorized above is readily accessible.

## Fiscal Service, Treasury

## Pt. 341, App.

### § 341.15 General provisions.

(a) *Regulations.* All Retirement Plan Bonds shall be subject to the general regulations prescribed by the Secretary with respect to United States securities, which are set forth in Treasury Department Circular No. 300, current revision, to the extent applicable. Copies of the general regulations may be obtained upon request from any Federal Reserve Bank or Branch or the Bureau of the Fiscal Service.

(b) *Reservation as to issue of bonds.* The Secretary of the Treasury reserves the right to reject any application for the purchase of Retirement Plan Bonds, in whole or in part, and to refuse to issue or permit to be issued any such bonds in any case or any class or classes of cases if he deems such action to be in the public interest, and his action in any such respect shall be final.

(c) *Additional requirements.* In any case or any class of cases arising under this part the Secretary of the Treasury may require such additional evidence as may in his judgment be necessary, and may require a bond of indemnity, with or without surety, where he may consider such bond necessary for the protection of the United States.

(d) *Waiver of requirements.* The Secretary of the Treasury reserves the right, in his discretion, to waive or modify any provision or provisions of this circular in any particular case or class of cases for the convenience of the United States, or in order to relieve any person or persons of unnecessary hardship, if such action is not inconsistent with law, does not impair any existing rights, and he is satisfied that such action would not subject the United States to any substantial expense or liability.

(e) *Fiscal agents.* Federal Reserve Banks and Branches, as fiscal agents of the United States, are authorized to perform such services as may be requested of them by the Secretary of the Treasury in connection with the issue, delivery, redemption, reissue, and payment of Retirement Plan Bonds.

(f) *Reservation as to terms of circular.* The Secretary of the Treasury may at any time, or from time to time, supplement or amend the terms of this part,

or any amendments or supplements thereto.

### APPENDIX TO PART 341—TABLES OF REDEMPTION VALUES

#### TABLE OF REDEMPTION VALUES PROVIDING AN INVESTMENT YIELD OF 3 3/4 PERCENT PER ANNUM FOR BONDS BEARING ISSUE DATES BEGINNING JANUARY 1, 1963

Table shows how the Retirement Plan Bonds bearing issue dates beginning January 1, 1963, by denomination, increase in redemption value during successive half-year periods following issue. The redemption values have been determined to provide an investment yield of 3.75 percent per annum, compounded semiannually, on the purchase price from issue date to the beginning of each half-year period. The period to maturity is indeterminate in accordance with the provisions of § 341.1(b).<sup>2</sup>

Period after issue date (years)	Issue price			
	Redemption values during each half-year period (Values increase on first day of period shown)			
	\$50.00	\$100.00	\$500.00	\$1,000.00
First 1/2 .....	\$50.00	\$100.00	\$500.00	\$1,000.00
1/2 to 1 .....	50.94	101.88	509.38	1,018.75
1 to 1 1/2 .....	51.89	103.79	518.93	1,037.85
1 1/2 to 2 .....	52.87	105.73	528.66	1,057.31
2 to 2 1/2 .....	53.86	107.71	538.57	1,077.14
2 1/2 to 3 .....	54.87	109.73	548.67	1,097.33
3 to 3 1/2 .....	55.90	111.79	558.95	1,117.91
3 1/2 to 4 .....	56.94	113.89	569.43	1,138.87
4 to 4 1/2 .....	58.01	116.02	580.11	1,160.22
4 1/2 to 5 .....	59.10	118.20	590.99	1,181.98
5 to 5 1/2 .....	60.21	120.41	602.07	1,204.14
5 1/2 to 6 .....	61.34	122.67	613.36	1,226.72
6 to 6 1/2 .....	62.49	124.97	624.86	1,249.72
6 1/2 to 7 .....	63.66	127.31	636.57	1,273.15
7 to 7 1/2 .....	64.85	129.70	648.51	1,297.02
7 1/2 to 8 .....	66.07	132.13	660.67	1,321.34
8 to 8 1/2 .....	67.31	134.61	673.06	1,346.11
8 1/2 to 9 .....	68.57	137.14	685.68	1,371.35
9 to 9 1/2 .....	69.85	139.71	698.53	1,397.07
9 1/2 to 10 .....	71.16	142.33	711.63	1,423.26
10 to 10 1/2 .....	72.50	144.99	724.97	1,449.95
10 1/2 to 11 .....	73.86	147.71	738.57	1,477.13
11 to 11 1/2 .....	75.24	150.48	752.42	1,504.83
11 1/2 to 12 .....	76.65	153.30	766.52	1,533.05
12 to 12 1/2 .....	78.09	156.18	780.90	1,561.79
12 1/2 to 13 .....	79.55	159.11	795.54	1,591.07
13 to 13 1/2 .....	81.05	162.09	810.45	1,620.91
13 1/2 to 14 .....	82.56	165.13	825.65	1,651.30
14 to 14 1/2 .....	84.11	168.23	841.13	1,682.26
14 1/2 to 15 .....	85.69	171.38	856.90	1,713.80
15 to 15 1/2 .....	87.30	174.59	872.97	1,745.94
15 1/2 to 16 .....	88.93	177.87	889.34	1,778.67
16 to 16 1/2 .....	90.60	181.20	906.01	1,812.02
16 1/2 to 17 .....	92.30	184.60	923.00	1,846.00
17 to 17 1/2 .....	94.03	188.06	940.31	1,880.61
17 1/2 to 18 .....	95.79	191.59	957.94	1,915.87
18 to 18 1/2 .....	97.59	195.18	975.90	1,951.80
18 1/2 to 19 .....	99.42	198.84	994.20	1,988.39
19 to 19 1/2 .....	101.28	202.57	1,012.84	2,025.67
19 1/2 to 20 .....	103.18	206.37	1,031.83	2,063.66
20 to 20 1/2 .....	105.12	210.23	1,051.17	2,102.35

<sup>1</sup> Based on redemption values of \$1,000 bond.

<sup>2</sup> At a future date prior to January 1, 1983 (20 years after issue date of the first bonds) this table will be extended to show redemption values for periods of holding of 20 1/2 years and beyond.

**Pt. 341, App.**

**TABLE A—TABLE OF REDEMPTION VALUES PROVIDING AN INVESTMENT YIELD OF 4.15 PERCENT PER ANNUM FOR BONDS BEARING ISSUE DATES BEGINNING JUNE 1, 1966**

Table shows the increase in redemption value for each successive half-year term of holding following the date of issue on Retirement Plan Bonds bearing issue dates beginning June 1, 1966. The redemption values have been determined to provide an investment yield of approximately 4.15 percent<sup>1</sup> per annum, compounded semiannually, on the purchase price from issue date to the beginning of each half-year period. The period to maturity is indeterminate in accordance with the provisions of § 341.1(b) of this circular.<sup>2</sup>

Period after issue date (years)	Issue price			
	Redemption values during each half-year period (values increase on first day of period shown)			
	\$50	\$100	\$500	\$1,000
First 1/2 .....	\$0.00	\$100.00	\$500.00	\$1,000.00
1/2 to 1 .....	51.04	102.08	510.38	1,020.75
1 to 1 1/2 .....	52.10	104.19	520.97	1,041.93
1 1/2 to 2 .....	53.18	106.36	531.78	1,063.55
2 to 2 1/2 .....	54.28	108.56	542.81	1,085.62
2 1/2 to 3 .....	55.41	110.81	554.07	1,108.15
3 to 3 1/2 .....	56.56	113.11	565.57	1,131.14
3 1/2 to 4 .....	57.73	115.46	577.31	1,154.61
4 to 4 1/2 .....	58.93	117.86	589.28	1,178.57
4 1/2 to 5 .....	60.15	120.30	601.51	1,203.02
5 to 5 1/2 .....	61.40	122.80	613.99	1,227.99
5 1/2 to 6 .....	62.67	125.35	626.73	1,253.47
6 to 6 1/2 .....	63.97	127.95	639.74	1,279.48
6 1/2 to 7 .....	65.30	130.60	653.01	1,306.03
7 to 7 1/2 .....	66.66	133.31	666.56	1,333.13
7 1/2 to 8 .....	68.04	136.08	680.39	1,360.73
8 to 8 1/2 .....	69.45	138.90	694.51	1,389.09
8 1/2 to 9 .....	70.89	141.78	708.92	1,417.85
9 to 9 1/2 .....	72.36	144.73	723.63	1,447.27
9 1/2 to 10 .....	73.86	147.73	738.65	1,477.30
10 to 10 1/2 .....	75.40	150.80	753.98	1,507.95
10 1/2 to 11 .....	76.96	153.92	769.62	1,539.24
11 to 11 1/2 .....	78.56	157.12	785.59	1,571.18
11 1/2 to 12 .....	80.19	160.38	801.89	1,603.78
12 to 12 1/2 .....	81.85	163.71	818.53	1,637.06
12 1/2 to 13 .....	83.55	167.10	835.52	1,671.03
13 to 13 1/2 .....	85.29	170.57	852.85	1,705.71
13 1/2 to 14 .....	87.05	174.11	870.55	1,741.10
14 to 14 1/2 .....	88.86	177.72	888.61	1,777.23
14 1/2 to 15 .....	90.71	181.41	907.05	1,814.10
15 to 15 1/2 .....	92.59	185.17	925.87	1,851.75
15 1/2 to 16 .....	94.51	189.02	945.09	1,890.17
16 to 16 1/2 .....	96.47	192.94	964.70	1,929.39
16 1/2 to 17 .....	98.47	196.94	984.71	1,969.43
17 to 17 1/2 .....	100.51	201.03	1,005.15	2,010.29
17 1/2 to 18 .....	102.60	205.20	1,026.00	2,052.01
18 to 18 1/2 .....	104.73	209.46	1,047.29	2,094.58
18 1/2 to 19 .....	106.90	213.80	1,069.02	2,138.05
19 to 19 1/2 .....	109.12	218.24	1,091.21	2,182.41
19 1/2 to 20 .....	111.38	222.77	1,113.85	2,227.70
20 to 20 1/2 .....	113.70	227.39	1,136.96	2,273.92

<sup>1</sup> Based on redemption values of \$1,000 bond.

<sup>2</sup> At a future date prior to June 1, 1986 (20 years after issue date of the first bonds), this table will be extended to show redemption values for periods of holding of 20 1/2 years and beyond.

**31 CFR Ch. II (7-1-25 Edition)**

**TABLE B—TABLE OF REDEMPTION VALUES PROVIDING AN INVESTMENT YIELD OF 5.00 PERCENT PER ANNUM FOR BONDS BEARING ISSUE DATES BEGINNING JANUARY 1, 1970**

Table shows the increase in redemption value for each successive half-year term of holding following the date of issue on Retirement Plan Bonds bearing issue dates beginning January 1, 1970. The redemption values have been determined to provide an investment yield of approximately 5.00 percent<sup>1</sup> per annum, compounded semiannually, on the purchase price from issue date to the beginning of each half-year period. The period to maturity is indeterminate in accordance with the provisions of § 341.1(b) of this circular.<sup>2</sup>

Period after issue date (years)	Issue price			
	Redemption values during each half-year period (values increase on first day of period shown)			
	\$50	\$100	\$500	\$1,000
First 1/2 .....	\$50.00	\$100.00	\$500.00	\$1,000.00
1/2 to 1 .....	51.25	102.50	512.50	1,025.00
1 to 1 1/2 .....	52.53	105.06	525.31	1,050.62
1 1/2 to 2 .....	53.84	107.69	538.45	1,076.89
2 to 2 1/2 .....	55.19	110.38	551.91	1,103.81
2 1/2 to 3 .....	56.57	113.14	565.70	1,131.41
3 to 3 1/2 .....	57.98	115.97	579.85	1,159.69
3 1/2 to 4 .....	59.43	118.87	594.34	1,188.69
4 to 4 1/2 .....	60.92	121.84	609.20	1,218.40
4 1/2 to 5 .....	62.44	124.89	624.43	1,248.86
5 to 5 1/2 .....	64.00	128.01	640.04	1,280.08
5 1/2 to 6 .....	65.60	131.21	656.04	1,312.09
6 to 6 1/2 .....	67.24	134.49	672.44	1,344.89
6 1/2 to 7 .....	68.93	137.85	689.26	1,378.51
7 to 7 1/2 .....	70.65	141.30	706.49	1,412.97
7 1/2 to 8 .....	72.42	144.83	724.15	1,448.30
8 to 8 1/2 .....	74.22	148.45	742.25	1,484.51
8 1/2 to 9 .....	76.08	152.16	760.81	1,521.62
9 to 9 1/2 .....	77.98	155.97	779.83	1,559.66
9 1/2 to 10 .....	79.93	159.86	799.33	1,598.65
10 to 10 1/2 .....	81.93	163.86	819.31	1,638.62
10 1/2 to 11 .....	83.98	167.96	839.79	1,679.58
11 to 11 1/2 .....	86.08	172.16	860.79	1,721.57
11 1/2 to 12 .....	88.23	176.46	882.31	1,764.61
12 to 12 1/2 .....	90.44	180.87	904.36	1,808.73
12 1/2 to 13 .....	92.70	185.39	926.97	1,853.94
13 to 13 1/2 .....	95.02	190.03	950.15	1,900.29
13 1/2 to 14 .....	97.39	194.78	973.90	1,947.80
14 to 14 1/2 .....	99.82	199.65	998.25	1,996.50
14 1/2 to 15 .....	102.32	204.64	1,023.20	2,046.41
15 to 15 1/2 .....	104.88	209.76	1,048.78	2,097.57
15 1/2 to 16 .....	107.50	215.00	1,075.00	2,150.01
16 to 16 1/2 .....	110.19	220.38	1,101.88	2,203.76
16 1/2 to 17 .....	112.94	225.88	1,129.43	2,258.85
17 to 17 1/2 .....	115.77	231.53	1,157.66	2,315.32
17 1/2 to 18 .....	118.66	237.32	1,186.60	2,373.21
18 to 18 1/2 .....	121.63	243.25	1,216.27	2,432.54
18 1/2 to 19 .....	124.67	249.34	1,246.67	2,493.35
19 to 19 1/2 .....	127.78	255.57	1,277.84	2,555.68
19 1/2 to 20 .....	130.98	261.96	1,309.79	2,619.57
20 to 20 1/2 .....	134.25	268.51	1,342.53	2,685.06

<sup>1</sup> Based on redemption values of \$1,000 bond.

<sup>2</sup> At a future date prior to January 1, 1990 (20 years after issue date of the first bonds) this table will be extended to show redemption values for periods of holding of 20 1/2 years and beyond.

## Fiscal Service, Treasury

TABLE C—TABLE OF REDEMPTION VALUES PROVIDING AN INVESTMENT YIELD OF 6 PERCENT PER ANNUM FOR BONDS BEARING ISSUE DATES BEGINNING FEBRUARY 1, 1974

Table shows the increase in redemption value for each successive half-year term of holding following the date of issue on Retirement Plan Bonds bearing issue dates beginning February 1, 1974. The redemption values have been determined to provide an investment yield of approximately 6 percent<sup>1</sup> per annum, compounded semiannually, on the purchase price from issue date to the beginning of each half-year period. The period to maturity is indeterminate in accordance with the provisions of §341.1(b) of this circular.<sup>2</sup>

Period after issue date (years)	Issue price			
	Redemption values during each half-year period (values increase on first day of period shown)			
	\$50.00	\$100.00	\$500.00	\$1,000.00
First 1/2 .....	\$50.00	\$100.00	\$500.00	\$1,000.00
1/2 to 1 .....	51.50	103.00	515.00	1,030.00
1 to 1 1/2 .....	53.05	106.10	530.50	1,061.00
1 1/2 to 2 .....	54.64	109.28	546.40	1,092.80
2 to 2 1/2 .....	56.28	112.56	562.80	1,125.60
2 1/2 to 3 .....	57.96	115.92	579.60	1,159.20
3 to 3 1/2 .....	59.70	119.40	597.00	1,194.00
3 1/2 to 4 .....	61.49	122.98	614.90	1,229.80
4 to 4 1/2 .....	63.34	126.68	633.40	1,266.80
4 1/2 to 5 .....	65.24	130.48	652.40	1,304.80
5 to 5 1/2 .....	67.20	134.40	672.00	1,344.00
5 1/2 to 6 .....	69.21	138.42	692.10	1,384.20
6 to 6 1/2 .....	71.29	142.58	712.90	1,425.80
6 1/2 to 7 .....	73.43	146.86	734.30	1,468.60
7 to 7 1/2 .....	75.63	151.26	756.30	1,512.60
7 1/2 to 8 .....	77.90	155.80	779.00	1,558.00
8 to 8 1/2 .....	80.24	160.48	802.40	1,604.80
8 1/2 to 9 .....	82.64	165.28	826.40	1,652.80
9 to 9 1/2 .....	85.12	170.24	851.20	1,702.40
9 1/2 to 10 .....	87.68	175.36	876.80	1,753.60
10 to 10 1/2 .....	90.31	180.62	903.10	1,806.20
10 1/2 to 11 .....	93.01	186.02	930.10	1,860.20
11 to 11 1/2 .....	95.81	191.62	958.10	1,916.20
11 1/2 to 12 .....	98.68	197.36	986.80	1,973.60
12 to 12 1/2 .....	101.64	203.28	1,016.40	2,032.80
12 1/2 to 13 .....	104.69	209.38	1,046.90	2,093.80
13 to 13 1/2 .....	107.83	215.66	1,078.30	2,156.60
13 1/2 to 14 .....	111.06	222.12	1,110.60	2,221.20
14 to 14 1/2 .....	114.40	228.80	1,144.00	2,288.00
14 1/2 to 15 .....	117.83	235.66	1,178.30	2,356.60
15 to 15 1/2 .....	121.36	242.72	1,213.60	2,427.20
15 1/2 to 16 .....	125.00	250.00	1,250.00	2,500.00
16 to 16 1/2 .....	128.75	257.50	1,287.50	2,575.00
16 1/2 to 17 .....	132.62	265.24	1,326.20	2,652.40
17 to 17 1/2 .....	136.60	273.20	1,366.00	2,732.00
17 1/2 to 18 .....	140.69	281.38	1,406.90	2,813.80
18 to 18 1/2 .....	144.91	289.82	1,449.10	2,898.20
18 1/2 to 19 .....	149.26	298.52	1,492.60	2,985.20
19 to 19 1/2 .....	153.74	307.48	1,537.40	3,074.80
19 1/2 to 20 .....	158.35	316.70	1,583.50	3,167.00
20 to 20 1/2 .....	163.10	326.20	1,631.00	3,262.00

<sup>1</sup> Based on redemption values of \$1,000 bond.

## Pt. 341, App.

TABLE D—TABLE OF REDEMPTION VALUES PROVIDING AN INVESTMENT YIELD OF 6.50 PERCENT PER ANNUM FOR BONDS BEARING ISSUE DATES BEGINNING AUG. 1, 1979

Table shows the increase in redemption value for each successive half-year term of holding following the date of issue on Retirement Plan Bonds bearing issue dates beginning August 1, 1979. The redemption values have been determined to provide an investment yield of approximately 6.50 percent<sup>1</sup> per annum, compounded semi-annually, on the purchase price from issue date to the beginning of each half-year period. The period to maturity is indeterminate in accordance with the provisions of §341.1(b) of this circular.<sup>2</sup>

Period after issue date (years)	Issue price			
	Redemption values during each half-year period (values increase on first day of period shown)			
	\$50	\$100	\$500	\$1,000
First 1/2 .....	\$50.00	\$100.00	\$500.00	\$1,000.00
1/2 to 1 .....	51.62	103.24	516.20	1,032.40
1 to 1 1/2 .....	53.30	106.60	533.00	1,066.00
1 1/2 to 2 .....	55.04	110.08	550.40	1,100.80
2 to 2 1/2 .....	56.82	113.64	568.20	1,136.40
2 1/2 to 3 .....	58.68	117.36	586.80	1,173.60
3 to 3 1/2 .....	60.58	121.16	605.80	1,211.60
3 1/2 to 4 .....	62.54	125.08	625.40	1,250.80
4 to 4 1/2 .....	64.58	129.16	645.80	1,291.60
4 1/2 to 5 .....	66.68	133.36	666.80	1,333.60
5 to 5 1/2 .....	68.84	137.68	688.40	1,376.80
5 1/2 to 6 .....	71.08	142.16	710.80	1,421.60
6 to 6 1/2 .....	73.40	146.80	734.00	1,468.00
6 1/2 to 7 .....	75.78	151.56	757.80	1,515.60
7 to 7 1/2 .....	78.24	156.48	782.40	1,564.80
7 1/2 to 8 .....	80.78	161.56	807.80	1,615.60
8 to 8 1/2 .....	83.40	166.80	834.00	1,668.00
8 1/2 to 9 .....	86.12	172.24	861.20	1,722.40
9 to 9 1/2 .....	88.92	177.84	889.20	1,778.40
9 1/2 to 10 .....	91.80	183.60	918.00	1,836.00
10 to 10 1/2 .....	94.80	189.60	948.00	1,896.00
10 1/2 to 11 .....	97.88	195.76	978.80	1,957.60
11 to 11 1/2 .....	101.06	202.12	1,010.60	2,021.20
11 1/2 to 12 .....	104.34	208.68	1,043.40	2,086.80
12 to 12 1/2 .....	107.72	215.44	1,077.20	2,154.40
12 1/2 to 13 .....	111.22	222.44	1,112.20	2,224.40
13 to 13 1/2 .....	114.84	229.68	1,148.40	2,296.80
13 1/2 to 14 .....	118.58	237.16	1,185.80	2,371.60
14 to 14 1/2 .....	122.44	244.88	1,224.40	2,448.80
14 1/2 to 15 .....	126.42	252.84	1,264.20	2,528.40
15 to 15 1/2 .....	130.52	261.04	1,305.20	2,610.40
15 1/2 to 16 .....	134.76	269.52	1,347.60	2,695.20
16 to 16 1/2 .....	139.14	278.28	1,391.40	2,782.80
16 1/2 to 17 .....	143.66	287.32	1,436.60	2,873.20
17 to 17 1/2 .....	148.34	296.68	1,483.40	2,966.80
17 1/2 to 18 .....	153.16	306.32	1,531.60	3,063.20
18 to 18 1/2 .....	158.12	316.24	1,581.20	3,162.40
18 1/2 to 19 .....	163.26	326.52	1,632.60	3,265.20
19 to 19 1/2 .....	168.58	337.16	1,685.80	3,371.60
19 1/2 to 20 .....	174.06	348.12	1,740.60	3,481.20
20 to 20 1/2 .....	179.72	359.44	1,797.20	3,594.40

<sup>1</sup> Based on redemption values of \$1,000 bond.

<sup>2</sup> At a future date prior to Aug. 1, 1999 (20 years after issue date of the first bonds) this table will be extended to show redemption values for periods of holding of 20 1/2 years and beyond.

**Pt. 342**

**TABLE E—TABLE OF REDEMPTION VALUES PROVIDING AN INVESTMENT YIELD OF 8.00 PERCENT PER ANNUM FOR BONDS BEARING ISSUE DATES BEGINNING NOVEMBER 1, 1980**

NOTE: This table shows how Retirement Plan Bonds bearing issue dates beginning November 1, 1980, by denomination, increase in redemption value during successive half-year periods following issue. The redemption values have been determined to provide an investment yield of 8.00 percent per annum, compounded semiannually, on the purchase price from issue date to the beginning of each half-year period. The period to maturity is indeterminate in accordance with the provisions of § 341.1(b).

Period after issue date (years)	Issue price			
	Redemption values during each half-year period (values increase on first day of period shown)			
	\$50.00	\$100.00	\$500.00	\$1,000.00
First half year ..	\$50.00	\$100.00	\$500.00	\$1,000.00
.5 to 1.0 .....	52.00	104.00	520.00	1,040.00
1.0 to 1.5 .....	54.08	108.16	540.80	1,081.60
1.5 to 2.0 .....	56.24	112.48	562.40	1,124.80
2.0 to 2.5 .....	58.50	117.00	585.00	1,170.00
2.5 to 3.0 .....	60.84	121.68	608.40	1,216.80
3.0 to 3.5 .....	63.26	126.52	632.60	1,265.20
3.5 to 4.0 .....	65.80	131.60	658.00	1,316.00
4.0 to 4.5 .....	68.42	136.84	684.20	1,368.40
4.5 to 5.0 .....	71.16	141.32	711.60	1,423.20
5.0 to 5.5 .....	74.02	148.04	740.20	1,480.40
5.5 to 6.0 .....	76.98	153.96	769.80	1,539.60
6.0 to 6.5 .....	80.06	160.12	800.60	1,601.20
6.5 to 7.0 .....	83.26	166.52	832.60	1,665.20
7.0 to 7.5 .....	86.58	173.16	865.80	1,731.60
7.5 to 8.0 .....	90.04	180.08	900.40	1,800.80
8.0 to 8.5 .....	93.64	187.28	936.40	1,872.80
8.5 to 9.0 .....	97.40	194.80	974.00	1,948.00
9.0 to 9.5 .....	101.30	202.60	1,013.00	2,026.00
9.5 to 10.0 .....	105.34	210.68	1,053.40	2,106.80
10.0 to 10.5 .....	109.56	219.12	1,095.60	2,191.20
10.5 to 11.0 .....	113.94	227.88	1,139.40	2,278.80
11.0 to 11.5 .....	118.50	237.00	1,185.00	2,370.00
11.5 to 12.0 .....	123.24	246.48	1,232.40	2,464.80
12.0 to 12.5 .....	128.16	256.32	1,281.60	2,563.20
12.5 to 13.0 .....	133.30	266.60	1,333.00	2,666.00
13.0 to 13.5 .....	138.62	277.24	1,386.20	2,772.40
13.5 to 14.0 .....	144.16	288.32	1,441.60	2,883.20
14.0 to 14.5 .....	149.94	299.88	1,499.40	2,998.80
14.5 to 15.0 .....	155.94	311.88	1,559.40	3,118.80
15.0 to 15.5 .....	162.16	324.32	1,621.60	3,243.20
15.5 to 16.0 .....	168.66	337.32	1,686.60	3,373.20
16.0 to 16.5 .....	175.40	350.80	1,754.00	3,508.00
16.5 to 17.0 .....	182.42	364.84	1,824.20	3,648.40
17.0 to 17.5 .....	189.72	379.44	1,897.20	3,794.40
17.5 to 18.0 .....	197.30	394.60	1,973.00	3,946.00
18.0 to 18.5 .....	205.20	410.40	2,052.00	4,104.00
18.5 to 19.0 .....	213.40	426.80	2,134.00	4,268.00
19.0 to 19.5 .....	221.94	443.88	2,219.40	4,438.80
19.5 to 20.0 .....	230.82	461.64	2,308.20	4,616.40
20.0 to 20.5 .....	240.06	480.12	2,400.60	4,801.20

**31 CFR Ch. II (7-1-25 Edition)**

**TABLE F—TABLE OF REDEMPTION VALUES PROVIDING AN INVESTMENT YIELD OF 9.00 PERCENT PER ANNUM FOR BONDS BEARING ISSUE DATES BEGINNING OCTOBER 1, 1981**

NOTE: This table shows how Retirement Plan Bonds bearing issue dates beginning October 1, 1981, by denomination, increase in redemption value during successive half-year periods following issue. The redemption values have been determined to provide an investment yield of 9.00 percent per annum, compounded semiannually, on the purchase price from issue date to the beginning of each half-year period. The period to maturity is indeterminate in accordance with the provisions of § 341.1(b).

Period after issue date (years)	Issue price			
	Redemption values during each half-year period (values increase on first day of period shown)			
	\$50.00	\$100.00	\$500.00	\$1,000.00
First half year ..	\$50.00	\$100.00	\$500.00	\$1,000.00
.5 to 1.0 .....	52.24	104.48	522.40	1,044.80
1.0 to 1.5 .....	54.60	109.20	546.00	1,092.00
1.5 to 2.0 .....	57.06	114.12	570.60	1,141.20
2.0 to 2.5 .....	59.62	119.24	596.20	1,192.40
2.5 to 3.0 .....	62.30	124.60	623.00	1,246.00
3.0 to 3.5 .....	65.12	130.24	651.20	1,302.40
3.5 to 4.0 .....	68.04	136.08	680.40	1,360.80
4.0 to 4.5 .....	71.10	142.20	711.00	1,422.00
4.5 to 5.0 .....	74.30	148.60	743.00	1,486.00
5.0 to 5.5 .....	77.64	155.28	776.40	1,552.80
5.5 to 6.0 .....	81.14	162.28	811.40	1,622.80
6.0 to 6.5 .....	84.80	169.60	848.00	1,696.00
6.5 to 7.0 .....	88.60	177.20	886.00	1,772.00
7.0 to 7.5 .....	92.60	185.20	926.00	1,852.00
7.5 to 8.0 .....	96.76	193.52	967.60	1,935.20
8.0 to 8.5 .....	101.12	202.24	1,011.20	2,022.40
8.5 to 9.0 .....	105.66	211.32	1,056.60	2,113.20
9.0 to 9.5 .....	110.42	220.84	1,104.20	2,208.40
9.5 to 10.0 .....	115.40	230.80	1,154.00	2,308.00
10.0 to 10.5 .....	120.58	241.16	1,205.80	2,411.60
10.5 to 11.0 .....	126.02	252.04	1,260.20	2,520.40
11.0 to 11.5 .....	131.68	263.36	1,316.80	2,633.60
11.5 to 12.0 .....	137.60	275.20	1,376.00	2,752.00
12.0 to 12.5 .....	143.80	287.60	1,438.00	2,876.00
12.5 to 13.0 .....	150.28	300.56	1,502.80	3,005.60
13.0 to 13.5 .....	157.04	314.08	1,570.40	3,140.80
13.5 to 14.0 .....	164.10	328.20	1,641.00	3,282.00
14.0 to 14.5 .....	171.48	342.96	1,714.80	3,429.60
14.5 to 15.0 .....	179.20	358.40	1,792.00	3,584.00
15.0 to 15.5 .....	187.26	374.52	1,872.60	3,745.20
15.5 to 16.0 .....	195.70	391.40	1,957.00	3,914.00
16.0 to 16.5 .....	204.50	409.00	2,045.00	4,090.00
16.5 to 17.0 .....	213.70	427.40	2,137.00	4,274.00
17.0 to 17.5 .....	223.32	446.64	2,233.20	4,466.40
17.5 to 18.0 .....	233.36	466.72	2,333.60	4,667.20
18.0 to 18.5 .....	243.86	487.72	2,438.60	4,877.20
18.5 to 19.0 .....	254.84	509.68	2,548.40	5,096.80
19.0 to 19.5 .....	266.32	532.64	2,663.20	5,326.40
19.5 to 20.0 .....	278.30	556.60	2,783.00	5,566.00
20.0 to 20.5 .....	290.82	581.64	2,908.20	5,816.40

[28 FR 405, Jan. 16, 1963, as amended at 31 FR 7625, May 27, 1966; 35 FR 224, Jan. 7, 1970; 39 FR 4661, Feb. 6, 1974; 45 FR 53393, Aug. 11, 1980; 46 FR 60573, Dec. 11, 1981]

**PART 342—OFFERING OF UNITED STATES SAVINGS NOTES**

Sec.  
342.0 Offering of notes.